
RESTORATION AND CUSTOM PICKUP PARTS 6625 WEST WILSHIRE BLVD. OKLAHOMA CITY, OK 73132 * 405-721-7945 * FAX 405-721-8906

MAR K
QUALITY PARTS

fig. 1

fig. 2

fig. 5

GM 41 - 46 Stepside:
Install the completed bed assembly to the truck frame. This will enable
you to check the alignment of the bed-to-frame bolt locations. The order
in which parts are installed on the truck frame is: rubber pad, wood
mounting block, cross sill bracket/cross sill, and the bed assembly. In-
stall the bed to frame carriage bolts with the offset washer through the
wood boards, cross sills/brackets, rubber pads, and the frame. Secure
with the 3/8" flat washers, lockwashers, and nuts. See figure 1.  The
small wood blocks with the offset hole are used under the cross sill that
is closest to the rear cross sill.  Be sure to install the cross sill brackets
with the offset hole on that same cross sill.  The large wood blocks are
attached to the bedsides near the rear sill for 1/2 ton trucks and are
attached to the rear sill for 3/4 ton trucks.

GM 47 - 53 Stepside:
Install the completed bed assembly to the truck frame. This will enable
you to check the alignment of the bed-to-frame bolt locations. The order
in which parts are installed on the truck frame is: rubber pad, wood
mounting block, cross sill bracket/cross sill, and the bed assembly. In-
stall the bed to frame carriage bolts with the offset washer through the
wood boards, cross sills/brackets, rubber pads, and the frame. Secure
with the 3/8" flat washers, lockwashers, and nuts. See figure 2.  The
wood mounting blocks with the offset hole are used under the cross sill
that is closest to the rear cross sill.  Be sure to install the cross sill
brackets with the offset hole on that same cross sill.  The 12 inch long
bed to frame bolts go in the bed to frame locations that are closest to
the cab.  All remaining bed to frame bolts are 6" long.

GM 54-87 Stepside
Install the completed bed assembly to the truck frame. This will enable
you to check the alignment of the bed-to-frame bolt locations. There
should be a rubber pad between each cross sill bracket and frame mount-
ing location. Align the bed wood mounting holes to the bolt holes in the
frame. Install the bed to frame carriage bolts with the offset washer
through the wood boards, cross sills/brackets, rubber pads, and the
frame. See figure 3.  There are several sizes and styles of these parts
so your model may not look exactly like the picture.  Secure the bed to
frame bolts with flat washers, lockwashers, and nuts.

41-46 GM

GM Bed to Frame Mounting Examples

fig.1

fig. 2

54-87 GM

47-53 GM

fig. 3

PLEASE NOTE: *These are suggestions only.  Please refer to the specific instructions for each year series
in the Bed Assembly Instructions for more detailed information.



RESTORATION AND CUSTOM PICKUP PARTS 6625 WEST WILSHIRE BLVD. OKLAHOMA CITY, OK 73132 * 405-721-7945 * FAX 405-721-8906

MAR K
QUALITY PARTS

Ford 51-52:
Install the completed bed assembly to the truck frame. This will
enable you to check for correct alignment at the bed-to-frame
bolt locations. The center cross sills have a bracket welded for
support at the bed to frame bolt location.  You may wish to use a
rubber pad between all mounting points of the frame and bed
assembly as shown in figure 4.  After checking the alignment of
the bed assembly to the cab and frame mounting holes, install
the bed-to-frame bolts through the bed wood mounting holes,
cross sills and into the frame holes. There will be six flat head or
oval head bolts with the special washers that are recessed about
1/8" in the wood boards. See figure 4. Install the flat washers,
lock washers, and nuts on the bottom side. The rear sill brackets
bolt directly to the frame under the wood surface.  Use two stan-
dard 7/16 hex head bolts for this location.  Rear sill mounting
bolts are not provided in our floor kit.

FORD Bed to Frame Mounting Examples

Ford 53-60:
Install the completed bed assembly to the truck frame. This will enable you to check the alignment of the bed-to-frame
bolt locations. The center cross sills have a bracket welded for support at the bed to frame bolt location.  You may wish to
use a rubber pad between all mounting points of the frame and bed assembly as shown in figure 4. After checking the
alignment of the bed assembly to the cab and frame mounting holes, install the bed-to-frame bolts. There will be two
“dome head” bolts through the bed strips near the bedsides at the front and four flat head or oval head bolts near the
center area of the bed with the special washers that sit recessed in the wood boards. See figure 4. Install the flat washers,
lock washers, and nuts on the bottom side. The rear sill brackets bolt directly to the frame under the wood surface.  Use
two standard 7/16 hex head bolts for this location.  These rear sill mounting bolts are not provided in our floor kit.

Ford 61-72:
Install the completed bed assembly to the truck frame.
This will enable you to check for correct alignment at
the bed-to-frame bolt locations. Place the bed mount-
ing blocks inside the two center cross sills over the
frame hole locations.  The hole in the wood block will
line up with the holes in the cross sill, bed wood, and
frame.  You may wish to use a rubber pad between all
mounting points of the frame and bed assembly as
shown in figure 5. After checking the alignment of the
bed assembly to the cab and frame mounting holes,
install the bed-to-frame bolts through the bed wood
mounting holes, cross sills, wood blocks and into the
frame holes. There will be six flat head or oval head
bolts with the special washers that are recessed about 1/8" in the wood boards. See figure 5. Install the flat washers, lock
washers, and nuts on the bottom side. The rear sill brackets bolt directly to the frame under the wood surface.  Use two
standard 7/16 hex head bolts for this location.  These rear sill mounting bolts are not provided in our floor kit.

fig. 5

PLEASE NOTE: *These are suggestions only.  Please refer to the specific instructions for each year series
in the Bed Assembly Instructions for more detailed information.

51-60 Ford

fig. 4

61-72 Ford



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


